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2. (a) What is correlation ? Differentiai:

(b) An incomplete distribution is gi
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You are told that the Median value i
1s 46.

OR

_ The mean Wei ht of 5
e o Kggand 3 0 students in a class is 50 Kg. Th
em
ys at of girls is 50 Kg. Find the number‘:)a;’nbwelght o
oys and girls

the class.
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straight line trend to the following data by least square method
etnoa :
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(a) What is Time Series ? Briefly explain its components. )

(b) For two groups of observation the following results were available :

Group 1  Group2

Sum of deviations from assumed mean 8 10
Sum of squares of deviations from assumed mean 40 70
Number of items 20 25
Assumed mean 5 8

Find the mean and standard deviation of the 45 observations obtained by
combining the two groups. )
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From the following results obtain two regression e

; : quations and est; y
when the rainfall is 29 cms. and the rainfa] whe SRAISHigyickd

n the yield is 600 kgs.

Yield in Kg. (X) Rainfall in cms. (Y)
fean 508.4 26.7
SD. 36.8 4.6
The coefficient of correlation between Yield and Rainfall is 0.52. (14)
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index number from the fol owing da

pute Fishers’ ideal price
satisfies both Time Reversal and F?t

ey

OR

(a) There are 60 male and 40 female workers in a factory. The stz
of their wages were computed as Rs. 8 and 11 respectivel
wages of the two groups were found to be equal. Comput

standard deviation of the wages of all the workers.

(b) The following table gives the weekly income of 160 familig

1_ | Weekly Income (Rs.) No. of Famili

2000-4000 20

4000-6000 40
| 6000-8000 50

| 8000-12000
q | 12000-16000

B 16000-20000

(i) Calculate the lower and upper quartile -'.;

=
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